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PCH: Solving Multivariable Linear Systems

Do Now

Solve each of the following systems algebraically:

1 "
L (4x-2y=2) infinitdy e
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A x—-2y+3z=9

3. Solve algebraically.B —x+3y=—4

C 2x—5y+5z=17
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23'(3x—6y=9)

3 (—2x+4y=1)

6X—lﬂy= M
~by, H;\J =3

043

D A | 12432 =9

X+S=0

i 32=1

£ =4



Answer is an ordered triple (X ,:j ,£)
Remember for a system of linear equations, exactly one is true:

1. There is exactly one solution
2. There are infinitely many solutions.
3. There is no solution.

For 1-5, solve the system of linear equations.
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Homework 01-08  (funanbu ansurs are. not inigue )



